
Operation Operations                                                                                      Day 14
Skills: Expanded form, figures and words, Ordering numbers, decimal place value, understanding multiplication, summing decimals  

1. At the shopping mall Munir decides to 

buy a gallon of oil and a sack of 

potatoes. The gallon of oil weighs 

3.7𝑘𝑔 each and the sack of potatoes 

16.2𝑘𝑔 each. How much do they 

weigh together?                                                    _______________ 

2. The price list of items at bobijojo’s take out parlor evening 
schedule is as follows  

Item Pizza Shawarma Smoothie Bole 
Price 𝑁3200 𝑁1100 𝑁700 𝑁800 
 

a. Funke has 𝑁2,800. Can she afford a box of pizza?  
_______________ 

b. Ibukun decides to buy one smoothie and two shawarmas. 
How much does she spend? 

_______________ 
c. Which costs less, two shawarmas or a box of pizza? 

_______________ 
d. By how much? 

_______________ 
e. Three friends decide to buy a pizza and three smoothies. 

How much should each contribute? 
_______________ 

3. For each sequence, write the next two terms and the rule  

8, 4, 2, 1, 
1

2
 Rule Divide by 2 

10, 20, 30, ____, ____, Rule ________________ 

95, 87, 71, ____, ____, Rule ________________ 

2, 6, 18, ____, ____, Rule ________________ 

4. To see his mummy, Tolu has to travel 4.47𝑘𝑚 by car and 

3.35𝑘𝑚 by train. How far does he have to travel to see his 

mum? 

_______________ 

5. Complete the table below 

Figures Expanded form 

152 100 + 50 + 2 
242  

1091  
 3,000 + 400 + 80 + 1 

12  
248,400  

 30,000 + 20 + 9 
 

6. Perform the operations below 

0.8 × 100 =  ______________ 

468 × 100 =  ______________ 

800 ÷ 10 =  ______________ 

82 ÷ 1000 =  ______________ 

435 × 10000 =  ______________ 

3728 ÷ 100 =  ______________ 
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Multiplication and Division: 0, 1, 2, 3, 4, 5, 6, 7, 8 and 9 tables 

× 6 3 7 4 9 12 11 1 8 2 10 5 
6             

9             

3             

4             

7             

8             

1             

5             

2             

0             

 

 

 

 

 

 

 

 

 

 

 

𝟒 × 𝟗 = 𝟒 × 𝟕 = 

𝟐 × 𝟕 = 𝟑 × 𝟖 = 

𝟒𝟐 ÷ 𝟕 = 𝟐𝟒 ÷ 𝟒 = 

𝟗 × 𝟓 = 𝟑 × 𝟏𝟐 = 

𝟓𝟒 ÷ 𝟔 = 𝟓𝟔 ÷ 𝟖 = 

𝟖 × 𝟕 = 𝟑 × 𝟖 = 

𝟕 × 𝟔 = 𝟕 × 𝟏𝟐 = 

𝟒 × 𝟖 = 𝟕 × 𝟕 = 

𝟓𝟒 ÷ 𝟕 = 𝟏𝟒 ÷ 𝟐 = 

𝟔 × 𝟏𝟏 = 𝟏𝟔 × 𝟓 = 

𝟔𝟑 ÷ 𝟗 = 𝟓𝟒 ÷ 𝟔 = 

𝟐𝟑 × 𝟖 = 𝟖 × 𝟕 = 

 

 𝟒 𝟖 
× 𝟐 

 
 

 𝟗 𝟒 𝟐 𝟖 
×   𝟑 𝟏 

 
 

 

 
 

  𝟒 𝟕 𝟖 
×   𝟒 𝟔 

 
 
 

 

 𝟐 𝟎 𝟕 𝟑 
×   𝟓 

 
 

𝟓𝟒

𝟐
= 

𝟒𝟐𝟗

𝟑
= 

𝟒𝟑𝟎

𝟓
= 

𝟑𝟔

𝟔
= 

𝟑𝟏𝟐𝟖

𝟖
= 

𝟖𝟓𝟖

𝟏𝟏
= 


